In the tutorial, you studied the light clock: two mirrors, set up so that light can bounce back and forth between
them, each return trip one 'tick' of the clock. The mirrors must be positioned so that light travels perpendicular
to the motion of any observer if we are to use these clock so compare time in different reference frames.
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! -> clicker question
All observers present at the event agree on what happened there
I -> clicker question
" Bart's clock runs a factor of 2 slow wrt Anne's frame of clocks\
-> clicker question
| Answer in the next lecture!




